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of the choice of §, € H, since
veK, PeK*=pYaecK, p*peK*

for every i. Furthermore the numbers of solutions of (7.0) and (7.3) are
equal to each other because aeK= B = ap’*ecK* and feK* = p~3
p = ae K. Similarly the numbers of solutions of (7.1) ans (7.2) are equal
because

peK*=ppf*ecK.

Finally (7.0) and (7.2) have the same number of solutions because
veK= —p>aek.
By the same argument it can be shown that the number of solutions
of each of the equations |

(8-0) 0g = ﬁl — ﬁz

(8.1) POy = 0y — 0y
(8.2) Pz do = B1 — B>
(8.3) p> 0y = oy — 0,

1s the same. Hence for each 6 # 0 the total number of solutions of

0 = oy — 0y, 0 =By — B,

is the same number u. Therefore pu(g—1) = 2um is equal to the total
number of expressions oy —a,, f;—f,, 1.6. to 2m (m—1), giving u = m—I
as required.
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